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Instructions for the Candidates

Write your roll number in the space provided on the top of

this page.

This paper consists of seventy five multiple-choice type of

questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

(iii) After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)

and (4). You have to darken the circle as indicated below on

the correct response against each item.
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where (3) is the correct response.

Your responses to the items are to be indicated in the OMR

Sheet given inside the Booklet only. If you mark your

response at any place other than in the circle in the OMR
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Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space

allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.

You have to return the Original OMR Sheet to the invigilators

at the end of the examination compulsorily and must not

carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.

. Use only Black Ball point pen provided by C.B.S.E.

. Use of any calculator or log table etc., is prohibited.

. There is no negative marks for incorrect answers.

. In case of any discrepancy in the English and Hindi versions,

English version will be taken as final.
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PHYSICAL EDUCATION
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The idea of Olympic flame was propagated by
(1) Demetrius Vikelas (2) Henri de Baillet
(3) Theordore Lewald (4) Pierre de Coubertin

2.  Tennis player Maria Sharapova has been recently banned for doping, using
(I) Meldonium (2) Myostatin
(3) Corticotrophin (4) Methyl Ephedrine

3.  Imaginary surface which divides the body into anterior and posterior aspects is
(1) Horizontal plane (2)  Sagittal plane
(3) Frontal plane (4) Vertical plane

4.  Which of the following is not a part of Weiners basic attribution categories ?
(1) Stability (2) Locus of causality
(3) Task orientation (4) Locus of control

S.  Effective teaching in physical education primarily depends on
(1) Optimizing the amount of time for instruction and practice
(2) Discipline in class
(3) Prosocial behaviour of group
(4) Good command

6.  Which of the following is not included among the objectives of health education ?
(1)  Guiding people into action (2) Rehabilitating people
(3) Motivating people (4) Informing people

7.  Which one of the following is not a talent indicators ?
(1) Tactical ability (2) Ability to tolerate load

(3) Stability of performance (4) Rate of increase in performance

8.  The limit of multiple correlation is

(1) -1to+1 (2) Oto +1
[ 2 [ 2 [ 2
(3) Oto+\/1—-13 4) —\J1l-1153 to+\/1—1p3
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9. For doubling the accuracy for a fixed level of significance the sample size had to be
increased by

(1) Two times (2) Four times

N
(3) Two and half times @) 1 times

10. The first step in planning process is
(1) Provision of facilities (2) Mobilization of resources
(3) Determination of goals (4) Identification of target group

11. The norms associated with sport ethics are
(a) Making scarifies
(b) Taking risks and playing through the pain
(c)  Striving for distinction by all means
(d)  Accepting no limits in pursuit of excellence

Codes :
(1) (b), (c), (d) (2) (b, (a), ()
(3)  (a), (b), (c) (4)  (a), (b), (d)
12. At the neuromuscular junction two chemical substances control and regulate entry of
neurotransmitter
(a) Cholin esterase (b) Acetyl cholin
(¢) Sodium ions (d) Calcium
(e) Lactic acid
Codes :
(1) (a),(d) (2) (b, (e)
(3) (a),(b) 4) (), (d)
13.  Which are vectors in the following lists ?
(a) Acceleration (b) Distance
(c) Displacement (d) Speed
(e) Velocity
Codes :
(1) (b), (c), (d) (2)  (a),(d), (e)
(3) (), (d), (e) @) (a), (o), ()
14. Find the correct combination in assessing personality in sports psychology
(a) Clearly defined variables (b) Sampling procedures
(c) Appropriate measures (d) Integrating susceptibility
Codes :
(1) (a), (b), () (2) (@, (), d)
(3)  (b), (c), (d) @) (0, (), ()
Paper-III 4 J-47-16
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15. Student-mediated instructional format consists of :
(a) Peer tutoring and reciprocal format
(b) Learning through questions
(c) Small groups and cooperative learning
(d) Self-instructional format

Codes :
(D) (a), (b), (0) (2) (b), (¢), (d)
3) (), (), @ 4 (a),(b),(d

16. Find the correct combination of the components of health related fitness, using the codes
given below :

(a) Flexibility

(b) Cardio-respiratory endurance

(c) Speed

(d) Proportion of fat to lean body mass
(e) Muscular strength and endurance

Codes :
(1) (@), (b), (c), (e) (2) (), (b), (d), (e)
(3) (b), (c), (d), (e) 4) (b), (a), (c), (d)
17. Find out the various types of criterion referenced validity from the below given codes :
(a) Concurrent validity (b) Construct validity
(c) Content validity (d) Predictive validity
(e) Discriminant validity
Codes :
() (@), (), () (2) (@, (@), ()
(3) (b), (c), (d) 4) (), (@), (e

18. Find the correct combination of the methods of Endurance training with the help of codes
given below :

(a) Repetition training (b) Cross-country training
(c) Fartlek training (d) Altitude training
Codes :
(L (b)), (@), (a) (2) (a), (), (c)
(3) (@, (), (d 4) (b), (c), (d)
19. In a distribution, value of each observation affects :
I Mean II. Standard Deviation
III.  Quartile Deviation IV. Median
Codes :
(1) I,IIand IV (2) L IIand IV
(3) TIandII 4 TandIV
Paper-III 6 J-47-16
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20. Standardised test should have
(a) Norms
(b)  Universal applicability
(c) Feasability of money and time
(d) Applicability for, at hand situations

Codes :
() (a),(b) (2) (a), (), ()
3) (b)), (¢), (d) 4 (¢),(d),

21. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Recreation is generally thought of as self-chosen activities that provide
a means of revtalizing and refreshing one’s body and spirit.

Reason (R) : Recreational activities focus on fitness and developing proficiency in
physical skills.

In the context of the above two statements which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

22. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Culture influences an individual’s health, beliefs, behaviours, activities,
access to care and adherence to programmes.

Reason (R) : As health is significantly affected by cultural beliefs, cultural issues
should be major consideration in the design and implementation of
physical activity.

In the context of the above two statements which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A) is false and (R) is true.

23. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Long term effective training may change the functioning of the
cardiovascular system, of which decrease in resting heart rate is significant.

Reason (R) : Training bradycardia may result due to adjustment of sympathetic and
parasympathetic nerves controlling the cardiac centre in the brain.

In the context of the above two statements which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

Paper-III 8 J-47-16
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20. THHIH W0 H (H=Teiad InHe g =e
(a) UM
(b) HETHF ST
(c) U AR 9T H FEEEdr
(d) T T TRt o o sryETar
[ TN
(D) (a), (b) (2) (a),(b), (0
(3) (b), (c), (d) @) (o), (), (a)

21. 9 3 e ST T E S O U o S (A) 3R S8 T e (R) FET TS

ATUHTT (A) : TARSH AR W E-FIHd HREFAT AT A § ST IR SR AT
c‘n\’I(IOII"I 3ﬂT<‘|{I<‘||\%‘II EEIG| WWWWW% |

& (R) : HARSH TeHl Heheld RN FeTar 31 IR vt T eIl ol [aehrd e
W SR &AM I |

ST < e % ey | et o @ o W E 2

(1) (A) 3R (R) I T & 3R (R), (A) I &l WL & |

(2)  (A) 3R (R) IAT Tl &, B (R), (A) T Tl TLEIHOT Tél € |

(3) (A)WIg AR (R) T |

(4) (A)TATE AR (R) T & |

22, 9 3 e ST T & S O U e (A) 3R S8 T e (R) FET TS

AN (A) : TP A & W, GROTST, ZER, HRESHAN, @ @G a% Tgd -
HTSHHT % ST ol T hiclT € |

% (R) : ek T TRl YRS W IR T Bl § 37 RN SRl
TR T 31X 0 AT § TR T Hewqul el Iy |

U < e % e W et o @ o Wl g 2

(1) (A) 3R (R) I T&l € 3R (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) I Tl &, B (R), (A) T Tl TLIHOT Tél € |

(3) (AW g AR (R) T |

(4) (A)TATE AR (R) T & |

23, 9 3 e ST T E S 9 U o e (A) 3R S8 T e (R) FET TS

ANUFHHT (A) : SO T AR O S (FIISAangpery) Holell § URad &l €,
S @ g5 & fasm § o 1 T HeE Ul ¥ |

% (R) : ufereror sfeskiear Afeask § g3g &x @ MG X oo fgEdfes qon
TR e iRt 3 THST % RO & Fehal ¢ |

U < e % ey W i o @ o W g 2

(1) (A) 3R (R) I T&l € 3R (R), (A) F Tl WL ¥ |
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24. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Anabolic steroid are misused in sports to increase muscle strength and
bulk, as a result increases athletic performance.

Reason (R) : Anabolic steroid may safely be used in sports or as a therapy since it
has no side effect.

In the context of the above two statements which of the following statement is correct ?

(I) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

25. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Stability is inversely proportional to the height of centre of gravity
above the area of the base. The higher the centre of gravity, the less will
be the stability and vice-versa.

Reason (R) : While catching a heavy object or a fast moving ball, like a high catch in
cricket, flexion at the knees is recommended, thereby ensuring higher
stability.

In the context of the above two statements which of the following statement is correct ?

(I) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

26. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Exercise is no longer restricted to students and youth. Men and women
of all ages are actively participating in exercise programme for fitness,
fun, recreation and competitions.

Reason (R) : Exercise is now part of life style and can prevent many diseases.
Excises for therapy and clinical purpose are well accepted in society.

In the context of the above two statements which of the following statement is correct ?

(I) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

27. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Confidence is crucial in determining performance. A strong belief in
your mental and physical abilities is essential to reach your potential.

Reason (R) : We should strive for a strong sense of confidence, becoming over
confident or underconfident and should believe in others and their
capabilities.

In the context of the above two statements which of the following statement is correct ?

(I) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.
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Aleed SE&T B, iqeh, TS Ud Uider€iel & o SImam SEshar § ik
THAATARE |

% (R) s A 3 SEYeN B o T & q9 S99 % W 9 §= S FhA1 & |
faferear ue Aeier S29al & o s &l U § weliHifd Wieh i T e |

ST J o O G B Fefeifed O & 1 Tl § 2

(1) (A) 3 (R) I Tl € 37 (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) I Tl &, B (R), (A) T Tl TLEHOT Tél € |

(3) (A) W g AR (R) T |

(4) (A)TATE AR (R) T & |

27. 9 3 A ST T E S 9 U o S (A) 3T T S 9 (R) el T E

Afpa (A) @ fovarg & HoRT & HURer § gl I W@ § | Sl HHEs aer
IR ATIaT | g [avard 3Teh! §adT o o i ag € |

& (R) : e fovary, sifdfavarg swar fe eeafovary o ford TR TeT afedt dqer gEi
T U ST TS § faears e A |

SIS 3T AT o G | Frefetad 7 ¥ @ wel § 2

(1) (A) 3 (R) I T&l € 3R (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) IAT Tel &, B (R), (A) T Tl TLIHOT Tél € |

(3) (A)WIg AR (R) T |

(4) (A)TATE AR (R) T & |
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28. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Imagery refers to creating or recreating an experience in the mind. It is
a form of simulation that involves recalling from memory pieces of
information stored from experiences and shaping these into meaningful
images.

Reason (R) : Imagery can be a powerful technique to enhance performance. It can
also enhance concentration and practicing of skills and strategies.

In the context of the above two statements which of the following statement is correct ?

(I) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

29. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : A successful physical education programme requires a meaningful and
relevant curriculum that is articulated across grade levels with effective
engagement of students.

Reason (R) : Only effective curriculum is the key to successful physical education
programme in schools.

In the context of the above two statements which of the following statement is correct ?

(I) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

30. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Professional preparation is the attainment of knowledge necessary to be
an educated person as well as having essential knowledge to understand
physical education, exercise science and sport.

Reason (R) : The most important factors influencing the choice of a career are the
strengths interest, goals and preferences.

In the context of the above two statements which of the following statement is correct ?

(I) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

31. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : The modern age is full of tremendous psycho-physical complexities
caused due to both intensive and extensive physical and mental work.

Reason (R) ¢ Recreational activities as leisure time pursuits are not being properly
promoted for the masses to regain lost vigour and vitality both at home
as well as work places.

In the context of the above two statements which of the following statement is correct ?

(I) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.
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28. Y 31 e ST U & S O U o e (A) 3R S8 T e (R) FET TS

ANHAT (A) : FOIRNAT FRSh § S99 T (R0 STel YATHAT i § Gaited & | 98 Ueh
TR T &I € W e § Tiad TSR & Wi gohel i A18 e o
I ek {9 T ST 1 AHA & |

T& (R) : TR AR ¥ iy B ol QT qhich ¢ | I8 ThIIaT dgi ool
PV T BT o STAT H Ff gheg T Gehell € |

ST J e o G B Frefeliad O § 1 Wl § 2

(1) (A) 3R (R) I Tl € 3T (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) IAT Tl &, B (R), (A) T T&T TLIHOT Tél € |

(3) (A)WIg AT (R) T |

(4) (A)TATE AR (R) T & |

29, Y 3 e ST T E S 9 U o ST (A) 3T T I G (R) FET AT

AHTT (A) : TH Thol IRIRE W FEFT & o vk e iR umifTs ureashd
e Bl & ST BT % THEhR Tt & T T Sl Wi 0 GEee gl
Tl

T& (R) : A WIERRT WISHSHY & et § Wthet SRR et Srishw ol defl & |

ST J o o G B Frefeifed o & 1 Wl § 2

(1) (A) 3R (R) I Tl € 3T (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) I Tl &, B (R), (A) T Tl TLEIHOT Tél € |

(3) (A)WIg AR (R) T |

(4) (A) AT E AR (R) T & |

30. 9 3 e ST T E S 9 U i S (A) 3T T S 9% (R) FET AT

AT (A) : USIER IR Ueh Wiferd saferd =M o foTT 31rerees S o6l Tt o o9 Iies
Torem, =T et 31X Wet-33 1 Tawaeh T BT & & |

& (R) : BN F AT Bl AT B ATl I Tewwuul awd Wiod, |, 7T 3R
I € |

SIS 3T AT o G | Frefead 7 ¥ 5 we § 2

(1) (A) 3 (R) I Tl € 3R (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) I Tl &, B (R), (A) T Tl TLEIHOT Tél € |

(3) (A)WIg AR (R) T |

(4) (A)TATE AR (R) T & |

31. 9 3 e ST T E S 9 U o S (A) 3T T S 9% (R) FET AT
ANUFYT (A) @ STYHH FIA, Ted IR fagd IHT FBR & RN 3R AFMEH B T 3cq
e HAI-IRINE SAfeedret § a1 981 € |
& (R) : TTelt g9 H [T ST a1el Haehedl & &9 H TARSH hiaehadl i 8T & G-
T T AT TGS ol 3R AT A B o [T 3| AT o folg qgfad
T Y WicHTed el ok ST @8 |
ST J o G B Frefelfed O § 1 Tl § 2
(1) (A) 3R (R) I Tl € 3R (R), (A) F Tl WL ¢ |
(2)  (A) 3R (R) IAT el &, B (R), (A) T T&T TLEIHOT Tél € |
(3) (A)WIg AR (R) T |
(4) (A)TATE AR (R) T & |
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32. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : AIDS has become a serious worldwide health problem. Having no
vaccine/drug to prevent HIV infection, awareness and education are the
only means to prevent and control the disease.

Reason (R) : Since AIDS is not a communicable disease, proper health care and
appropriate exercises can prevent the disease.

In the context of the above two statements which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

33. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : A well planned diet should contain not only the essential ingredients
but also enough roughage materials and fibers.
Reason (R) : Sweets, oils and fats should be carefully considered in the diet.
In the context of the above two statements which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.
4) (A) is false and (R) is true.

34. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Hydraulic machines for weight training are very useful because both
agonist and antagonist muscles can be exercised on the same apparatus.

Reason (R) : The disadvantage associated with the hydraulic machine is that the rate
of injury is very high.

In the context of the above two statements which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

35. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : The talent spotting for a specific sport should be made at a later stage of
life.

Reason (R) : From the motor development prospective also early specialization is
harmful because it is unproductive and thus may contribute to the
problem of drop outs.

In the context of the above two statements which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.
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32. 9 3 e ST T E S O U o SR (A) 3T T S 9% (R) FET AT

AHET (A) : TSH T AT § U TR W T S T | LSS, WohuvT S IhH
& PIE /ST T & P HROT 37 I H STIREehdT 3T 9187 & AT Famor der
=0T 1 THEE HEA E |

a& (R) : ik TS T TR AT 6 € | T @ 3@ iR 3fad S ¥ g I
T T & Fohell & |

U < e % e W et o @ o W g 2

(1) (A) 3 (R) I Tl € 3R (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) I TEl &, B (R), (A) T Tl TLEHOT Tél € |

(3) (A) TIE AR (R) T & |

(4) (A)TATE AR (R) T & |

33, 9 3 e ST T E S 9 U o S (A) 3T T S 9% (R) FET AT
ANUFYT (A) : TP YA TR H T halel Savash awd & dey Siesh SqH JaTeT I0hsT Tt
AR reer off B =Ry |
& (R) : SRR H fHergd, de7 3R a1 W WaeHgas R AT 91l |
U < e % e | et o @ o W E 2
(1) (A) 3R (R) I Tl € 37 (R), (A) F Tl WL ¢ |
(2)  (A) 3R (R) I Tel &, B (R), (A) T Tl TLEIHOT Tél € |
(3) (A) W g AR (R) T |
(4) (A)TATE AR (R) T & |

34, 93 U ST T E S 9 U o S (A) 3T T S 9% (R) FET AT

ANUFHYT (A) @ TR RIEIOT (A2 20T) & Sa-TIeid 9l Sgd SUANT &Il © SRiiteh Uk & SUhvl
 eanTt U Toit S Uit ST S 8 Wt ¢ |

% (R) : So-TIeid AT H S[St W 78 & o 39 91 o i ST Il 3T € |

U < e % e | et o @ o Wl g 2

(1) (A) 3R (R) I Tl € 37 (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) I Tl &, B (R), (A) T Tl TLEIHOT Tél € |

(3) (A) W g AR (R) T |

(4) (A)TATE AR (R) T & |

35, 9 3 e ST T E S 9 U o S (A) 3T T S 9% (R) FET AT
AT (A) : TAPS b ol UIAIT BT GiST STa- o et =T § B ST =6 |
T& (R) : TIiceh faehra Ui § off ST fafereieRor eifehRes 2iaT & il 8 STcae
BT & O SHY Tel ol S § SIS < bl TN i S il et b1 & |
ST e % ey W et o @ o Wl g 2
(1) (A) 3 (R) I T&l € 3R (R), (A) F Tl WL ¢ |
(2)  (A) 3R (R) IAT el &, B (R), (A) T T&T TLEIHOT Tél € |
(3) (A) W g AR (R) T |
(4) (A)TATE AR (R) T & |
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36. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : External criticism is an attempt of researcher to establish the genunity
of historical source.

Reason (R) : The idea is to verify the bonafides of the source items.

In the context of the above two statements which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

37. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Deriving hypothesis form a theory involves deduction.
Reason (R) : Itis a process of reasoning from general proposition.
In the context of the above two statements which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.
4) (A) is false and (R) is true.

38. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : A test is not always designed to assess the attainment of objectives.

Reason (R) : Most importantly the test should maximise the opportunity for each
testee to understand and complete the required task.

In the context of the above two statements which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

39. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Measurement is the quantification of characteristics contained in a
phenomenon.

Reason (R) : Obtaining and reporting of quantified characteristics is of little meaning
unless it is compared with a reference score.

In the context of the above two statements which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.
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36. 9 3 e ST T E S 9 U o ST (A) 3T T S G (R) FET AT
AR (A) W;ﬂ?ﬁwﬁﬁaﬁw@ﬁaﬁmwﬁqﬁwwmww
a9 e |
T& (R) : T 32YT FId T ol Fogal T AT T € |
ST < e % e W et o @ o W g 2
(1) (A) 3R (R) I Tl € 3T (R), (A) F Tl WL ¢ |
(2)  (A) 3R (R) I Tl €, Al (R), (A) 1 TEl TR0 &1 & |
(3) (A) TIE AR (R) T & |
(4) (A) AT AR (R) T T |

37. 93 e ST T E S O U o ST (A) 3T T S 9% (R) FET AT
ATHIT (A) ;o fagia @ uRepeo T U e | T St 8T & |
& (R) : T8 QT TR 9 e ol UishaT & |
U < e % ey | et o @ o W g 2
(1) (A) 3R (R) I Tl € 3R (R), (A) F Tl WL ¢ |
(2)  (A) 3R (R) I T €, Al (R), (A) 1 TEl TS0 &1 & |
(3) (A)TIE AR (R) T & |
(4) (A)TATE AR (R) T & |

38. 9 31 e ST MU E S 9 U ol S (A) 3R T I G (R) FET TS
aAfmer (A) : fordl RieTor it FTOT EHET SESvEl i Wit o for et fohar ST € |

T& (R) : GEY TeTaqUl o1 e € Toh U0 §RT ST I ST gHEH Ud IR S o o
Tedieh TRIRTOTET o fotd STy 3faehay fohal ST =1y |

U < e % e W et o @ o Wl g 2

(1) (A) 3R (R) I T & 3R (R), (A) I &l WL & |

(2)  (A) 3R (R) I T €, Al (R), (A) 1 TEl TR0 &1 & |
(3) (A) T TR (R) T & |

(4) (A)TATE AR (R) T & |

39, Y 31 e ST MU E S 9 U i S (A) 3T T I 9% (R) FET AT
AfmaT (A) ;T TRt aREeT § fHfea fosioarst s A #
& (R) : R TIIaTetl Pt W R 3R T S T B T TEl ¢ ST b S
T T § AT = Sl ST |
U < e % ey W i o @ o W g 2
(1) (A) 3 (R) I T&l € 3T (R), (A) F Tl WL ¢ |
(2)  (A) 3R (R) I Tl €, Al (R), (A) 1 TEl TS0 &1 & |
(3) (AW g AR (R) T |
(4) (A)TATE AR (R) T & |
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40. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Politics has become an integral part of competitive sport in the world
today.

Reason (R) : Competitive sport is used at international level to demonstrate national
supremacy in ideology and economic sufficiency.

In the context of the above two statements which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

41. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Time table means planning the day long activity, week-long activity
etc. at a fixed times having flexibility of making need based changes.

Reason (R) : Properly framed school time table helps to accomplish the objectives of
the school.

In the context of the above two statements which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

4) (A) is false and (R) is true.

42. Arrange the objectives of affective domain in a sequence from lower to higher order :

(a) Valuing (b) Receiving
(c) Organising (d) Responding
Codes :

(1) (), (b), (c), (d)
2) (), (a), (d), (b)
(3)  (b), (d), (@), (¢)
@ (D, (), d), (a)

43. Arrange in sequential order the chemical changes that occur during muscular exercise :
(a) Anaerobic glycolysis
(b) Breakdown of CP
(c) Kreb Cycle
(d) Breakdown of ATP
(e) Synthesis of ATP from ADP
(f)  Electron Transport System
Codes :
(1) (e), (d), (a), (¢), (b), ()
(2) (), (e), (b), (), (a), ()
(3) (b, (), (), (D), (a), (¢)
@) (d), (b), (e), (a), (c), ()
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40. =9 3 U ST T E S 9 U R SHET (A) 3T T B T (R) FET AT
AMHAT (A) : TS TSI fova | UiqereicHes Tt o 3 3T &1 T € |
& (R) : ViqeeicAsh et 1 IUANT foaRERT aen SN TRl § SR R W ey
AT URITT e o [t fopar ST & |
SIS 31 AT o G | Frefetad 7 ¥ @ we § 2
(1) (A) 3R (R) I T&l € 37 (R), (A) FT Tl WL ¢ |
(2)  (A) 3R (R) I Tl &, B (R), (A) T Tl TLEHOT Tél € |
(3) (A)TWIg AR (R) T |
(4) (A)TATE AR (R) T & |

41. =9 3 U ST T E S 9 U o S (A) 3T T S G (R) FET AT

AMHLT (A) : THT IROT & A0l R, RTTTE & HEFAd Ff T0 R ST 1 ©
TS} STt o SFER TEde e i el Bl & |

a& (R) : Stad 9 9 TR A T e b T URT [eed & SEvaAl o Q0 e |
T HAE |

ST J o o G B Frefelfed o & 1 Tl § 2

(1) (A) 3R (R) I Tl € 3R (R), (A) F Tl WL ¢ |

(2)  (A) 3R (R) I Tl &, B (R), (A) T Tl TLEIHOT Tél € |

(3) (AW g AR (R) T |

(4) (A)TATE AR (R) T & |

42, AT & o I5STAT B T H 39 § et diteTd
(a) FIH HEAT
(b) TR HEA
(c) wnfed T
(d) wfafsear AT
kT
(1) (a), ), (), (d
(2) (0, (a), (d), (b)
(3)  (b), (d), (@), ()
4) (d), (), (b), (a)

43. U3 Y % SR & d1el THEHS TReT ol el 51 H oFa e it
(a) TEIAT TATSHITS TS
(b) LI = fawiT (22
(c) Ha TH
(d) T 1 o (22
() WSO ¥ WAL, ST AITUT
(f) TS TR Ut
%
(1) (e), (d), (a), (c), (b), (D)
(2)  (d), (e), (b), (c), (a), ()
(3) (b, (), (&), (D, (a), (c)
@) (), (b), (e), (a), (c), (D)
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44. Find out the sources of error in measurement

(a) Subject (b) Instrument
(c) Organiser (d) Tester

(e) Administration

Codes :

(1) (), (b), (c), (d)
(2)  (a),(b), (d)
(3)  (b), (), (d)
4 (b), (d), (c)

45. Find the correct sequence (from head to foot) of the bones given in the list.

(a) Metacarpal (b) Saecrum
(c) Tarsal (d) Vomer
(e) Fibula () Sternum
(g) Temporal

Codes :

(1) (g), (d), (b), (a), (), (e), (¢)
@) @, (b), (d), (), (), (), (e)
(3)  (b), (), (d), (g), (e), (c), (D)
@ (2), (d), (D, (b), (a), (e), (¢)

46. The practical characteristics of a meaning instrument is judged in terms of
(a) Economy
(b) Convenience
(c) Interpretability
(d) Formation of Index
(e) Demarcation of Indicators
Codes :
(1) (@, (b), (c), (d), ()
(2) (@), (b), ()
(3)  (b), (0), (d)
@) (0, (), (e)

47. Find the correct sequence among the factors disrupting flow in general : Weinberg (1995)
(a) Inability to maintain focus
(b) Physical problems
(c) Negative mental attitude
(d) Self-critical attitude
Codes :
(1) (@), (), (c), (d)
(2)  (b), (c), (d), (a)
(3) (), (0), (d), (b)
4 (b), (a), (c), (d)
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44. A ¥ Fe F AT Faed

(a) Toor= (b) ST
(c) TaSTH (d) =X
(e) URMHH

TN

(1) (), (b), (c), (d)
(2)  (a),(b), (d)
(3)  (b), (), (d)
4 (b), (d), (c)

45. T g ¥ TE SR (3T H S ) ST

(a) TEHRUA (b) T
(c) ZREA (d) =
(e) Tthepem () ™
() <HReA

C TAR

(1) (g), (d), (b), (a), (), (e), (¢)
@) @, (b), (d), (), (), (), (e)
(3)  (b), (), (d), (g), (e), (c), (D)
@ (2), (d), (D, (b), (a), (e), (¢)

46. ToHd AT 9 F @RS [ fRe &9 9 99 &t S § 2
(a) T
(b) e
(c) =TT
(d) gahis T
(e) TR HI URH
?c" :
(1) (a), (b), (c), (d), (e)
(2) (a), (), (c)
(3) (b, (c), (d)
@) (), (), (e)

47. WHE ®9 9 T H AGYH SeA dTel SHRebT & Tal 5 i Ted Y ; oFeT (1995)
(a) USHHAT S ST W& | 3T AT
(b) IRIRF T
(c) TTHRIHS AHTH TG
(d) HF-ATAEATHS Hvucgfﬂ
%
(1) (a), ), (), (d)
2) (), (©), (D, ()
(3) (a),(c), (d), (b)
4) (b), (@), (c), (d)
J-47-16 21 Paper-111

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

48. A model curriculum to acquire significant outcome for students, need proper
conceptualization arrange the following steps in sequential order :
(a) Develop the curriculum plan
(b) Develop a clear programme
(c) Define the outcome goal for instructional practices
(d) Implementation and assessment of the plan
Codes :

(1) (b), (), (a), (d)
(2) (0, (a), (b), (d)
(3) (@), (b), (c), (d)
4 (b), (), (c), (d)

49. Find the correct sequence of energy liberation and transfer from the codes given below :

(a) Chemical energy (b) Solar energy
(c) Mechanical energy (d) Vegetarian food
Codes :

(1) (), (b), (c), (d)
2)  (b), (0, (d), ()
(3)  (b), (d), (@), (¢)
4 (c), (d), (a), (b)

50. Find out the right sequence for calculating two way analysis of variance from the below
given codes :

(a) RSS (b) CF
(c) SSC (d TSS
(e) SSE () SSI
(20 SSR

Codes :

(1) (@), M), (d), (©), (1), (2). (e)
() (b), (a), (d), (2), (0), (D), (e)
(3)  (b), (a), (g), (d), (D), (&), (c)
4 (b), (d), (2). (0), (o), (D), (a)

51. Find out the right sequential order in the procedure for item analysis :
(a) Calculate and record index of discrimination for each item.
(b) Calculate and record the index of difficulty for each item.
(c) Arrange the answer sheets from high to low score.
(d) Examine the pattern of responses to determine the process for improving an item.
Codes :
(1) (0, (b), (a), (d)
2) (), (0, (a), (b)
(3) (0, (a), (b), (d)
@ (D, (©,d), ()
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48. BT % foTT Hewaqol uRomd ared s & TRt STIeet uTeashd o e Wehou T i ST Tedt
& | fATeTEd HaaT T HHTIR Faed o :
(a) OICHSHH IR 1 ek
(b) U T FHRHH FHT T
(c) STIMCHS U3t & feTu uRoms 1oy st ufenifer st
(d) ISR HIEFEEIT 3T STeher
%
() (D), (), (a), (d)
(2) (o), (a), (b), (d)
(3) (a), (b), (c), (d)
4) (b)), (), (c), (d)

49. T 53 T F T o fayie X ST T W IFHA I
(a) EEEE ol
(b) IR I
(c) IitIm Sou
(d) ITHEERS YisH
%
(D (a), (), (c), (d)
(2) (b), (c), (d), (a)
(3) (b), (d), (a), (c)
4) (o), (d), (a), (b)

50. e 3T T Pl T WEROT F Tguei foaverdur St MUHT S & feTT e s o Tee e

(a) RSS (b) CF
() SSC (d TSS
(e) SSE (f) SSI
(g) SSR

G YA

(1) (@), (®), (d), (©), (1), (2). (e)
2)  (b), (a), (d), (2), (©), (D), (e)
(3)  (b), (@), (g), (d), (D), (&), (c)
4 (b), (d), (2). (0), (o), (D), (a)

51. W% Taecioor &q UEHAT H WEl STehiHeh s H SHared hitd |
(a) UH TS & R AR ! T HIAT U 3 351 AT |
(b) UF T & o7 HiTE FaAHIH ! TUFT HIAT U I 35T AT |
(c) =9 Q= Pl IR IA-YRAHT i Hafeerd T |
(d) Todr &g | QuR & ekt (eTRa S & Uiashansti & Yo i Sird e |
%<
(1) (¢, (b), (a), (d)
(2) (@), (c), (a), (b)
(3)  (¢), (), (b), (d)
@ (@, (), (b), (a)
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52.  Smooth functioning of an organization involves many factors like
Find the correct sequence from the codes given below :

(a) Money

(b) Material

(¢) Method

(d) Manipulation
(e) Machinery
Codes :

(1) (a), (), (c), (d)
2 (@, (), d), ()
(3) (@), (b), (c), (e)
4)  (a), (b), (d), (e)

53. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List -1

(a) Locomotor skills

(b) Ballistic skills

(c) Non-locomotor skills

(d) Manipulative skills
Codes :

(2) (b) (©)

() () (iv) ()
2 O (i1) (i)
(3)  (v) (i) (i1)
4) (i) () (iv)

()

(i)
(iii)
(iv)

(d
(iii)
(iv)
)
(i)

List — IT
Movement done from relatively
stationary position
Body moves through space
Skills used in handling objects
Cesation of effort in the mid
course of the skill

54. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List -1

Hjalmar Fedrick Ling (Sweden) (1)

(d
(iv)
)
(iii)
(i)

(a)
(b)  Archibald McLareu (Britain)
(c) Adolph Spiess (Germany)
(d) Franz Nachtegall (Denmark)
Codes :
(a) (b) (©)
H (i1) (i)
(2 (i) (i) (iv)
3) (@) () (i1)
(4)  (iiD) (iv) ()
Paper-I111
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List - II
Role of physical activity in health
(i) Promoted gymnastics in schools
by equating it with other school
subjects.

(i) Teachers training institution to
prepare teachers for schools and
military.

(iv) Promoted educational gymnastics
in school curriculum
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52. fordit G o Mty SHEeo] § 31 ek Wi 8id & 99 fo

(@) &7
(b) TR
(c) fafx
(d) @Rt
(e) WRIFRI
%
(1) (@), (b), (c), (d)
(2) (@), (c), (), (e)
(3)  (a),(b), (c), ()
@) (a),(b), (d), (e)
53. TR — 1% W g — [ ¥ gAfera & S A R e et | W faeen @ wae
=t - 1 = - 10
(a) AhHIET HRTA (i) eI fer ferfa o deem
(b) sfcfe BT (i) ¥R 1 gal § G g ¢ |
(c) H-CIRIERY HITTeT (ili) SIS & TEE@E H TR DT
(d) AfFgefes B (iv) hI9TeT & S | T o Uk ST
£
(a) (b) (© (d)
(1 (i) (iv) (1) (iii)
@ @ (ii) (i)  (iv)
(3) (v) (i) (ii) (1)
4) (i) (1) (iv) (ii)
54. TR — 1% W g — [ & Ao Y SR A R e et @ W faeew & wae
T -1 T - 10
(a) TTOW HeReh fofiT (@iie) (i) e ¥ IR harehena st
T
(b) onfaares Hkeryg (foe7) (i) fommem ® @M W I
ol & GHH AT 39
EEEIRER
(c) TUSITH T (ST (it) Torme™ & fora fererer aem oA
F o TR wA 'q e
ARTEI0T T
(d) T AT () (iv) Tommedr weEsH W 9T
A i T e 4T |
£
(a) (b) (© (d)
1 @ (ii) (i)  (iv)
(2 (i) (i) (i) (1)
3)  (@{v) (1) (ii) (iii)
4) i) @{v) (1) (ii)
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55. Match the terms of List — I with that of List — II and select the correct option using the

codes given below :

List - I
(a)  Semilunar valve (1)
(b) S.A.Node (i1)
(c) Tricuspid valve (111)
(d) Bicuspid valve (iv)

Codes :

(a) (b) (©) (d
(D) (i) (iv) (D (ii)
2 v (ii1) (i) (D)
(3) (i) (iv) (i) (D
4 (@ (ii1) (D) (iv)

List - II
Between right auricle and right
ventricle
Between left auricle and left
ventricle
Junction of left ventricle and
Aorta
Right auricle

56. Match the terms of List — I with that of List — II and select the correct option using the

codes given below :

List -1
(a) Strain (1)
(b)  Sprain (i1)
(c) Laceration (ii1)
(d) Tennis elbow (iv)

Codes :

(a) (b) (©) (d
(D) (i) (iv) (i) (D
2  @av) (ii1) (D (i)
3 (@ (D (ii1) (iv)
4  @av) (i) ) (iii)

List - II
Bleeding wound
Tendon injury
Ligament injury
Muscle injury

57. Match the terms of List — I with that of List — II and select the correct option using the

codes given below :

List - 1
(a) Gracilis (1)
(b) Soleus (i1)
(c) Bracheoradialis (111)
(d) Tensor fasciae latae (iv)

Codes :
(a) (b) (©) (d
(H  @Gv) (D (i) (ii1)
(2) (i) (iv) (D (i)
3 v (i) (ii1) (D
4) (i) (i) (D (iv)
Paper-I111
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List — IT
Flexion of Elbow joint
Extension of knee joint
Adduction of hip joint
Plantar flexion of ankle
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55. gt — 1% ST & gl — [ ¥ GAfed Y 3R 9 ST 10 Fel & Tl foehed 1 =2 o ;

(a)

(b)
©

(d)

T4

(=N

(1)
2
3)
4

(i)
(iii)

(iv)
(d)

(i)
(1)

T -1
FHR () (i)
i)
T, A
TAHEE dTed
T HS T
(a) (b) (c)
(iii) (iv) (i)
Gv) (i) (i)
Gii)  Gv) (i)

(i) (iii) ()

()

(iv)

= - 10
T Ao SR T e & S

T 3T 3T 9 ot & &
I Mo AR HerEHr (3T3TE) @
TR

TET IS

56. gt — 1% ST & gl — [I ¥ GAfeTd Y 3R A9 ST 10 el & Tl foheq 1 =2 o ;

(a)
(b)
(©)
(d
E T
(D
(2)
(3)
“4)

)

(i)
(iii)
(iv)

(d)
(1)
(i)
(iv)

(iii)

= - 10
e ST STa o et @I e |
HIT (2) T
&g (femmie) @i
Ui A

57. gEt— 1% ST & gl — [ ¥ GAfed Y 3R 9 ST 10 Fel & Tl foheq 1 =2 o ;

(a)
(b)
(©)
(d
£
(D
(2)
3)
“4)

J-47-16

T -1
T (F)
e ()
ToRROT (eraeer)
o Test
(a) (b) (©
Gii)  (iv) (ii)
(iv) (11i) (1
(i1) (1 (11i)
(iv) (i1) (1
T -1
picsitars]
Tled
ElBE IR s
T AT e
(a) (b) ©
(iv) (1 (i1)
(11i) (iv) (1
@iv) (ii) (iii)
(11i) (i1) (1

WWW a?27Subiects com

(1)
(i)

(d
(iii)
(i)
)
(iv)

g WY HT 3Mpa
AT WY T ForoT
(i)  Frerer @ty 1 eAfaaa
(iv) @A F URAe e
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58. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List - I List — IT
(a) Kinetics (1)  Twisting, turning or rotary
force applied for angular
acceleration
(b) Force (i) Capacity of a body to
perform work

(c) Acceleration (iii) Understanding of forces that
act on a system
(d) Torque (iv) Any action that changes the
motion of an object
(v)  Change in velocity
Codes :
(a) (b) (c) (d)
(1 (i) (v) (iv) (i)
(2 @v) v) (i) (1)
(3) @) (v) (v) (1)
(CORNC)) (iii) (i) v)

59. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List -1 List - II
(a) Personality dynamics (i)  Martens, R.
(b) Motor reactions (i)  Bruce Ogilivie
(c) Applied sports psychology  (iii)) R. Cummins
(d)  Group cohesion (iv) Carron, A.V.

Codes :

(a) (b) (©) (d
(H  @Gv) (ii) (iii) )
2 (@ (D (iv) (iii)
3  ® (ii1) (i) (iv)
4) (i) (iv) (D (i)

60. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List -1 List - II
(a) Intrinsic and extrinsic motivation (i) Cartwright, D & Zandev, A
(b)  Group dynamics (i)  Weinberg, R.S.
(c) Leadership in sports (ii1)) Chelladurai, P
(d) Psychological skill training (iv) Vealey, R.S.

Codes :
(a) (b) (©) (d
(D 0] (i) (iv) (1ii)
2 () ) (iii) (iv)
(3) (i) (iv) ) (i)
@ (i) (iii) (i) (1
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58. gt — 1% ST &l gl — [I ¥ GAfeTd Y 3R 9 T 10 Fel & Tl foehed 1 =2 o :

=t - 1 = - 10
(a) SRl (i) PV @R H AN
oed el gHERR
37T gUH et
(b) = (i) et e & ®& &
T &THAT
(c) TR (i) TFEr FpE W @™
aTel I T A
(d) FA-3TTT (2Teh) (iv) =% T s Tl o
T T T TZA A & |
(v) o H uReeH
£
(a) (b) () (d)
(1 (i) (v) (iv) (i)
(2)  (iv) (v) (i) (1)
(3) @) (v) (v) (1)
(CONEN ()] (iii) (i) (v)
59. T — 1% W g — 1 & GAfera Y S A R e et W faeen & e
=t - 1 = - 10
(a) AR TRt (i) T, AR
(b) ORI TfdTsHaT (i) S enffera
(c) OIS @ HAfeRT=  (iii) 3R, A=
(d) g FEsH (iv) o TH,
E T
(a) (b) () (d)
(1 (v) (i) (iii) (1)
(2) (i) (1) (iv) (i)
3 O (iii) (i) (iv)
@ @) (v) (1) (i)
60. Tt — 1 ST bl gl — I ¥ GAfeTd Y 3R 9 T 1T el & Tl fohed 1 =2 o :
=t - 1 = - 10
(a) TRk UG aTeT SANMROT (1) eSS, Sl adl STed, T,
(b) THE Tieh! (i) aFe, JIRTH.
(c) TAHATH (iii) =TgRE, .
(d) HAIAER DIvTT URTRTOT  (iv)  dell, 3TRTE.
£
(a) (b) () (d)
(V)] (i) (iv) (i)
(2) (i) (1) (i)  (iv)
(3) @) (v) (1) (i)
4 (Gv) (i) (i) (1)
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61. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :
List -1 List - II
(a) Significant learning outcome (i)  Provides continuous information
and feedback
(b) Formative assessment (i)  Meaningful assessment
(c) Summative assessment (1) Standardized and controlled
assessment
(d) Formal assessment (iv) Assessment that provide final
judgement on learning
Codes :
(a) (b) (©) (d)
(CORENCY (i1) (iii) (iv)
(2 () (1) (iv) (i)
3 @)  (@1v) (i1) (1)
4 @Gv) (i) (1) (i1)
62. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :
List - I List — II
(Degree) (First Inception)
(a) M.A. (Physical Education) (1)  Jiwaji University
(b) M.P.Ed (1))  Punjabi University
(c) M. Ed (Physical Education)  (iii) Panjab University
(d M.P.E. (iv) Madras University
Codes :
(a) (b) (© (d)
(L () (i) () (1)
@ (i1) (iii) (iv)
3 @Gv) (1) (iii) (i1)
4 @) @1v) (i1) (1)
63. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :
List -1 List — II
(a) Function of diet (1)  Eating habits, age, sex
(b) Elements of diet (1))  Glucolipids, phospholipids, lipoproteins
(c) Compound fats (1i1) Proteins, water, minerals
(d) Factors affecting diet ~ (iv) Provides energy, ensures body growth,
prevents disease
Codes :
(a) (b) (© (d)
(L () (1) (iv) (i)
(2 Gv) (i) (i1) (1)
(3 @) (1) (1) (i1)
(CONNCY (i1) (iii) (iv)
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61. Tt — 1 ST &l gl — I ¥ GAfeTd Y 3R A9 T 1T el & Tl foehed 1 =2 o :

T -1 = - 10
(a) YUl ST UROMY (i)  OMAR gEeT 3R HieS®
ST AT & |
(b) TEATHSE ST (i) T SAHAT
(c) FeieTd 3Tehet (ili) TP R IS e
(d) IR 3MHe (iv) 3™ W eifaw Mo 3
T 3MHeA

T4

(=N

(a) (b) (© (d)
(CORENCY (i) (i)  (@v)
2 () () (v) (i)
(3 @G (@Gv) (i) (1)
@ Gv) (i) () (i)

62. Tt — 1% ST i gl — I ¥ GAfeTd Y 3R 9 T 10 el & Tl foheq 1 =2 o ;

T -1 = - 10
(feity @ R | gfafadt 4
TEE)
(a) M.A. (IRIR fo18m) (i)  Starst gHarger
(b) M.P.Ed. (i)  OSTe FafEet
(c) M.Ed.(@mifes forem) (i) T gfataet
(d MPE. (iv) A5 garaet

T4

(=N

(a) (b) (© (d)
(1 () (i) () (1)
@ O (i) (i) (@v)
3 ) (1) (iii) (i)
@ @) (@Gv) (i) (1)

63. Tt — 1% ST i gl — [I ¥ GAfeTd Y 3R 9 T 10 Fel & Tl fohed 1 =2 o :

T -1 = - 10
(a) TER & T () WIS R HI e, U, forT
(b) MR % T (i) oINS, BREREs, ferame
(c) o % AMTH (il) WM, ST, Wit
(d) @R & uqfad A (iv) ol UG R &, IR 61 forehrg gfvad
oot R FAE, AT Y FAm e |

T4

(=N

(a) (b) (© (d)

(1 () () (v) (i)

@ Gy (i) (i) (1)

(3 @G @Gv) () (i)

(CORNCY (i) (i) (@v)
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64. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List -1 List - 11
(a) Balloonreturn (i)  Volleyball
(b) Lob pass (i)  Gymnastics
(c) The dig (111) Table tennis
(d) Glide kip (iv) Basketball
Codes :

(a) (b) (© (d)
(H G @Gv) () (i)
@ O (iii) (i) (iv)
3 ) (i) (iii) (1)
@ (i) () (v) (i)

65. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List - 1 List — 11
(a) Quest to improve general fitness (1)  Weight lifters
(b) Train to develop enormous strength (1) Weight-trainers
(c) Strongest athletes in the world (i11)) Body builders
(d) Train to increase the girth of the muscle  (iv) Power lifters

Codes :

(a) (b) (©) (d
(H (@D (iv) (D (iii)
2 O (ii1) (ii) (iv)
3 O (i) (iii) (iv)
4) (i) (D (iv) (ii)

66. Match the measurement scales of List — I with statistical techniques as applicable for them
given in List —II :

List - 1 List —II

(a) Interval scale (1)  Standard deviation, contingency
coefficient, percentile

(b) Nominal scale (1) Rank order correlation, Quartile

deviation, Kendal W
(¢)  Ordinal scale (ii1)) Mode, frequency, Chisquare
(d) Ratio scale (iv) Mean, Partial and multiple correlations
(v)  Static coefficient, Pie constant
Codes :
(a) (b) (©) (d
(H  @Gv) (v) (ii1) (D
(2) (i) (i) (iv) (v)
3 v (ii1) (i) (D
4) (i) (iv) (D (v)
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64. Tt — 1% ST ol gl — [I ¥ AT Y R A9 T 1T Fel & Tl fohed 1 =2 o :

(a)
(b)
(©)
(d
E T
(D
()
3
“4)

T -1
o R
SIERIE]

T fem
ToTES fod

(a) (b)
(i) (i)
(@) (i)
(iv) (i)
(ii) @

= - 10
(i) et
(i) FrEEE
(i) <9 2T
(iv) ST&hesTel
() (d)
() (ii)
(i) (iv)
(iii) (i)
Gv) (i)

65. Tt — 1% ST i gl — [I ¥ GAfeTd Y 3R 9 T 10 el & Tl foeheq 1 =2 o ;

(a)
(b)
(©
(d)

T4

(=N

(1
2
3)
4

T -1

w11

AT TN T@EATH () aefeTwel

RICIES
Aty Wi foeRtad (i)  deeed

fova =1 qag vfoaemen (i) STl foeed
HEUTerET B dieE TBH (iv) R fowed

(©) (d
) (iii)
Gy  (iv)
Gi)  (iv)
(iv) (i)

66. T — I % AT AT 61 Gl — [ H & 778 WATqeh! dehriehl & HeTe i

(a)
(b)

(©
(d

£
(D
(2
(3)
4)
J-47-16

I T UTRTETT
TR
T UTRTRT0T
(a) (b)
(ii) (iv)
(1) (iii)
(1) (ii)
(iii) (i)
T -1

RIS 3T
A ST
anfeAer 3T
3T 3TFHTT
(a) (b)
(iv) (v)
Gii) (i)
Gv) (i)
Gii)  (iv)
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= - 10
(i) O faeer, SHie~idr ToTen, wfaeTdr
(i) T oSy Tedaudl, Tqus (FAREE)
fereret, sheTet g,
(i) geTeh, MG, FHIE TR
(iv) T, SRR qAT TE-FEaHl
(v) T T, 0TS i

(©) (d)
(ii) 6)
i) (V)
(ii) (@
@ )
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67. Match the terms of List — I with List — II and select the correct option using the codes
given below :
List - I List — IT
(a) Bioelectric impedance (i)  Flexibility
(b) BMI (1) Body conductivity
(c) Hydrostatic weighing  (ii1)  Strength
(d) Goniometer (iv) Density
(v) Fibre types
(vi) Height-weight ratio
Codes :
(a) (b) (©) (d)
(1 () (vi) () (1)
2 (i) (v) (i)
(3) i) (vi) (iv) (i)
@ (@v) v) (i) (1)
68. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :
List - I List — IT
(a) Sports activity provides (i)  Manufacturing
(b)  Sports services can be provided (ii))  Service
(c)  Sports industry can involve (i) Through private sectors
(d) Sports managers provide (iv) Direct management responsibility
Codes :
(a) (b) () (d)
(Y (i)  (iv) (i)
@ Gy (i) (1) (i)
(3 @G (@Gv) (1) (i)
(CORNCY (iii) (i) (iv)
69. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :
List - I List — IT
(a) Centralization (1)  Obedience and respect for the agreements
(b) Discipline (1))  Delivering from position
(c) Division of work (ii1)) Increasing the role of subordinates
(d)  Authority and responsibility  (iv) Better work with same effort
Codes :
(a) (b) (©) (d)
(H G @Gv) (1) (i)
2 () (i) (iv) (1)
(3) (D) (1) (iv) (i)
@ Gv) (i) (1) (i)
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67. Tt — 1% ST &l gl — [I ¥ GAfeTd Y 3R 9 T 10 Fel ¥ Tl fohed 1 =2 o :

T -1 = - 10
(a) T THIP S (i) o
(b) SUA.IME (i) et Shefgefadt
(c) TrEgl-Wiew g (i) ¥R
(d) TiHAERT (iv) =
(v) TSR TEW
(vi) BTEe—ee IR
E T
(a) (b) (©) (d
(h (i) (vi) (iv) )
2 W (ii) (iv) (iii)
3) () (vi) (iv) (iii)
@ (i) (v) (i) )
68. Tl — % sl I et — 11 ¥ FAferd ot 31X 1 5T 0 3t T Tl ferbed ot =8 3
T -1 = - 10
(a) ToA-F% GaHl FRBAY SUTH FAAE | (1)  farmmor
(b) TA-FF YA ST HAL ST THA & | (i)  Fam
(c) WeA-g JENT I &1 Fehell & | (iii) =it &0 g
(d) TA-FT T ST A ¢ | (iv) WoIe  TeEee
IR
E T
(a) (b) (©) (d
(H (iii) (iv) (i)
2  (v) (iii) ) (i)
(3) (i) (iv) ) (i)
@ O (iii) (i) (iv)
69. Tl — % sl I et — 11 ¥ FAferd L 31X 19 5T 70 32t T Tl ferbed ot =8 3
T -1 = - 10
(a) B () Gl & urer 3R
(b) STRTEA (i) 3T IS § VST AT
(c) I I == (iii)  oTefi=ee st fent ° gig
(d) wigsR X TERRT (iv)  THE YAE § 9gR
£
(a) (b) (©) (d
(D (i) (iv) ) (i)
2 () (iii) (iv) )
(3) (i) ) (iv) (i)
@ (i) (iii) ) (i)
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70. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List -1 List - II
(a) Hepatitis (1)  Bacteria
(b) High Altitude (i)  Micro-nutrients
(c) Cholera (1i1) Virus
(d) Vitamin B, (iv) Frost-bite

Codes :

(a) (b) (©) (d)
C) RN )] (i)  (iv) (i)
(2 @) (31v) (1) (i)
3  Gv) (i) (i) (1)
@4 @) (31v) (i) (1)

Read the passage and answer the questions :

Stress, arousal and anxiety each have distinct meaning. Stress is a process. It occurs when
people perceive an imbalance between the physical and psychological demands on them and
their ability to respond. Some situations produce more state anxiety and arousal than others.
Stress is also influenced by personality dispositions : trait anxiety and self-esteem. Performers

with high trait anxiety and low self-esteem experience more state anxiety.

Arousal-related emotions, such as cognitive and somatic state anxiety, are related to
performance. Hanin’s optimal zone of functioning, Hardy’s catastrophe model and Marten’s
interpretation of reversal theory should be used to guide practice. An optimal recipe of emotions
is related to peak performance, and when performers are outside this optimal range, poor
performance results. This optimal combination of emotions needed for peak performance does
not necessarily occur at the midpoint of the arousal/state anxiety continuum, and the relationship
between arousal and performance depends on the level of cognitive state anxiety (worry) a

performer exhibits.

An interactional model of motivation should guide teachers and coaches in their efforts to help
students and athletes manage arousal and state anxiety. Creating a positive environment and a

productive orientation to mistakes and losing is an effective way to manage stress.
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70. gt — 1% ST B gl — [1 ¥ GAfeTd Y 3R 9 ST 0 el @ Tl foehed 1 oo o ;

Tt - 1 =t - 11
(a) TURER" () SRIREr
(b) ®TE TS (i) gew diftes
() R (iii) A"
(d) foefm@ B, (iv) T |
E T
(a) (b) (©) (d)
(CORNCY () () (i1)
(2 @)  @1v) (1) (i1)
3  @Gv) (D) (i1) (1)
4 @) @1v) (i1) (1)
IE0T T U 3 T o I

T, SASHT 3R ST, Uedesh o1 TeTT-3TeRT 37 & | O1e Ueh UishaT & | € el 81T & 5Ta i
W NN 3 AAES T T 9 T SART UABRAT & s 376 ST 1 oY el & |
Teaferit o= 7 310 fueh et T T SASHT S et © | d1e sataed TAigaat ; o
IeT SR 3w THH N o wifed e € | Sea fomives ar R e onew e % Ay
foaTeTeRa ot efues feafa g =1 erwa giar € |

SASHI-Gad! 9Td, 9T I 3R e feafq givedr & o @ defud § | enarg &
feonfRer T oA & o A & 1 R & seedm & BEl % ST WiqH 31T H1eT 3 SchAvT
fagicr =t <A 6 o ST oA STT =feT | Wil ST gRAH SiWeAsT Iy eI ¥ Tetad € qer
STe oITETeRe 36 Tad & ¥ ST el €, $ (R %W BT & | 98 S T ¢ i e 2
AT a1 Tg TLAH HANT o1/ et gaar & Heafag W&t &l | SAsHn iR Foaee & d e
e 3R GaY TRl TomgehdT 51T S ST aTell SeiHTees fedfe 3T (TRerHn & &R W R

HATE |

RO % fordlt TREIRe (31=I1) AfcmT gRT forerent e wioweseni ot 310 forentérar ud faemtear &
oot ue et g o UeHe W e & S WA ol fKenieer fear ST =gl | wehRies Ao <
TmTOT ST T TTATTET U 5 W % Ui HeAlcarseh (e (ERUT T UeEe 1 U T akieh ¢ |
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71. Poor performance results, when the performers are :
(1) at the midpoint of arousal and anxiety

(2) inside the optimal range
(3) out-side the optimal range

(4) out-side the optimal range of stress and arousal

72. Perception of the psychological demands affect
(1) the functioning of trait anxiety.
(2) the relationship of arousal and cognitive state anxiety.
(3) the productive orientation to mistakes.

(4) the ability to respond.

73. More state anxiety and arousal is experienced in
(1) Stable situations (2) Less provoking situations

(3) Very important situations (4) Common situations

74. As per Marten’s interpretation of reversal theory, peak performance is related to
(1) the experience of state-trait anxiety
(2) an optimal recipe of emotions
(3) the creation of positive environment

(4) the ability of the athletes to respond

75. As per Hardy’s catastrophe model, performance depends on
(1) the interaction of arousal and cognitive state anxiety
(2) perceived imbalance between physical and psychological demands
(3) personality dispositions of the athlete

(4) The Combination of self-esteem and trait anxiety
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71.

72.

73.

74.

75.

ST (HOaIR e 81T & STa foamgeha

(1) SO 3R g % JeAfeg WEd € |

(2) TCH &5 % WA BN § |

(3) T & % AT e ¢ |

(4) T R AT & 32T &7 % A e € |

A Wi 6T S JIferd e &

(1) ot 3= & & &l

(2) IS SR GAHTCHS Fegfe g
(3) ATl % FelicaTee et e
(4)  TITTsRAT SR S W AT

a1tyeh et gf¥erdT 3T ST 1 319 a 2T &
(1) fer fefmr

(2) A IHAM AT et

(3) 3 Hewaqul fefaar

(4) = feafoat

AT & SHAYT TAFT=T ! ST & AR, Y oI fohad et ¢ 2
(1) Feerfe-formerss g

(2) WA T AT

(3) HHRIHS HAEIA T FHIT

(4)  TITsRAT ST L ol RISl I &

ETET & ST WiqHH & 3R, H Fore g © R Far € 2
(1) SO 3R e fefd gieean

(2) IR 3R AL | & o S gaT e

(3) Tace! @i e T

(4) 3TTH T SR foRive 3ar 1 s
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Space For Rough Work
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